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QUESTION 1

A job fails with Status Code 96: unable to allocate new media. What are two causes of this error? (Select two.)
A. The available media has expired.

B. The available media has exceeded the maximum mounts.

C. The available media is in a scratch volume pool.

D. The "Allow multiple retentions per media" setting has been enabled.

E. The "Enable unrestricted media sharing for all media servers" has been enabled.

Correct Answer: AB

QUESTION 2

In Symantec NetBackup 7.0 there are currently three storage units (STU-A, STU-B, and STU- C). Only STU-A is set as
On Demand Only. Three policies have been created as follows: PolicyA is set up to use storage unit STU-A. PolicyB is
set up as an "Any Available" storage unit. PolicyC is set up to use STU-C. If STU-B fills up, and STU-A and STU-C still
have available space, what happens to future backups for PolicyB?

A. Backups will use STU-A.

B. Backups will use STU-C.

C. Backups will remain queued waiting for available space on STU-B.

D. Backups will fail with an error message indicating that media is unavailable.

Correct Answer: B

QUESTION 3

A company has decided to install Symantec NetBackup 7.0 in a cluster.
What are two prerequisites for this installation? (Select two.)

A. A virtual host name and IP address must be configured.

B. Two cross-over cables must be installed.

C. Replication must be installed.

D. The shared disk must be accessible to all nodes.

E. The installation DVD must be shared across all nodes.

Correct Answer: AD
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QUESTION 4

A Symantec NetBackup 7.0 environment uses a multi-tiered architecture. Which system functions as the top tier?
A. media server

B. enterprise client

C. client

D. master server

Correct Answer: D

QUESTION 5

Which default Windows Open File Backup method is used during a backup for a newly installed Symantec NetBackup
7.0 Windows 2003 client?

A. VERITAS Snapshot Provider (VSP)

B. Microsoft Volume Shadow Copy Service (VSS)

C. snapshot provider configured in Global Client Attribute
D. Advanced Open File Option (AOFO)

Correct Answer: B
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